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GnFtruL3uL <utru3LPh 2019 raququLh F3nFQbh bnnnn+ bftutru3uqh

qusunuuL uuuhL
f}nrtltuLlrutr hturlu4LBh 201gp.-h bnnnn4 bnrudulur!h ntrpugpnLrl plnrgbtr Quunurp{b1f btpurlnu"ntrbpfr
qbn4 96.1 %-nQ,trufuurunbur.{ru6 94853.0 huq.rypurdfr rf nfurupbtr {rr.r.rurnurgfr tlnrrnptpp luqdbl btr
91156.3 hurq.rypurd : UbrJrrullutr blurJnLunt bnn'( htupt4urlfrtr blurlnrmtrbp h unnrppbn,,"libLlurtlnruntrbp,
btludnruntrbp LluqJrunurl qnp6tuntrnrplnrtrtrbplrg) 21125.5 hurq.4purrlfr r.hnfuupbtr r.huuunurgfr rlnrunpbpp
luqtlb1bb17428.8 hurq.qpurrl, lruuntuprftutr unn!nup' 82.5 %: \w2nnLurlrutr r.npurLugbprt Upl., q6n4-
bQrurlnrrntrbnn (<( qbunurllutr plnrpbfrg rnpturlu4pr{nrl4nuntugftutrbp )trufuurnbu{u6 lp73727.Shw-q.
rlnulLl, Lnnllbl I urdpnrpnLplurlp Llud lurrnupdutr unnlnup'100.0 %,*Jry pr-lnrrl' hurluhtuppbgdtuL
uQqpnLbpnr{ rnpurlurrln{nq rpnrnurgfrurtrbnn' 73727 .5 huq. qpurrlp mp{b1 | rudpnrpnLplurrlp,
lurtn rup drutr r"n n L1 n u p'l 00. 0%:

1. {up1ur!ruL durufr bQurlnLr"ntrbpp
2019p-fr plnL2btr r{uplurllurtr durunr{ bnnnnry bnrudululh ntrpu,gpnrd trurfuuuunbur{ur6 tp 9aS53.0

huq.4purd bltuulnrrn, rf uruunrugir rlnrrnpbpp lurqrlbl bti 91'156.3 hruq.4prud tlud Laurun'prlutr
mnLlnup' 96.1 %:
Ubtf ultutr bludnrrntrbnn '( htupQtullrtr bQutlnrrntrbp Lr rnnrppbn,tu1[ b!u,rdnu"ntrbp, bl.ludnruntrbpp)
21125.5 htuq.4purlfr {rnfuupbtr rfrururnugfr r,lnrmpbpp l4uqtlbfiL1742B.B hurq.aprj, qr**pdtutr

mnllnup' 82.5 %:'rlu2r"nntrulutr mpuLu$bpmtrbnh q6n{ blutlntntrbnn (<< qbunurl.lutr plnrgblrg
mptudtu4pr{nrl4nunurgfrtutrbp )trufuuunbu{ru6 1p73727.5 hurq. huq. +nr,I, rnnrlbt tlSiZl.S hrrq..
+nuLI Qrurl lrurnupdurtr mnQnup' 100.0 %,*Jry pr{nul' hurdruhruppbgrlutr ulqpnrtrpn{ rnpurJur4nqnrt
4nmugfirutrbnn'73727-5 hruq. 4prurl,nnn Lnn4b[ | urtlpnrpnrplrurlp, tluruntupdu.rU unnqnup'tOO.OZ: 

-

1. (nqh hurntt
(nrLh hurnUh qbn{ blurlnLuntrbpp 20't9 p-h plnLgbnr{ bpnnnry bnurlulu!fi ptrpurgpnrd
LufuruLnbu{urd 6000.0 huq.qpurl[ r.frnfuurpbtr rfrururnugI dnrrnpbnn llurqrJbl btl 4093.3
hruq.rypurl, !uLnuprftutr !rud Llulunrupriultl unnLlnup' 68.2 %: lrulfunp4 r,nqrpr{ru hurlbdr,un hnqfr
htunllh Qrumupdurtr LnnQnup u6b1 f:

2. 9nqpruhurptl
9nqpruhupLlp hurfrultrpfr {up$u[urtr unupubpnul qr"nL{nrl2btrpbpfr Lr 2lrtrnrplnrtrtrbp[ hturJtup
Irrufururnburlru6 hn 200,0 huq.4purdfr r.hnfuupbtr qhurumurgfr dnrunpbpp Llurqdbl btr 290.6
huq.4purrl, lltuunuprltutr lurd Qurunruprlurtr rnnQnup' 145.3 %,luq funfuu4pqu.lfr2ngbbpfi hurr.lurp
Lufuurrnbur{urd 6100.0 huq.qnurdh {rnfuurpbtr qhuur"nugfr dnLunpbpp taurqdbl btr SOA+.S
huq.rlpurl, luLnrupdrutr Llud l4urnurprJurtr unnlnup' 93.2 %,n?Atrqrfunpry unupt{ru hurdbduun

LnLltrqbu u6b1f:
3. Sbrpr!rutr rnnLppbp

SbqtuQrub r"nnLppbpfr q6n{ blurdnrmtrbpp bppnpry bnudulurUh ntrpugpnLrl trufu1uunbu{u6 804.2
huq.qpurdfr rfrnfuurpbtr r.huumugfr dnLunpbpp llurqrJbl btr 686.6 huq.rypurrl Qturl Llurunrupdtutr
unnlnup' 85.4 %, npp trufunpry rn'rprlur hurdbrfuuun tr{ruqb1 | :

4. UIL bllurdnLuntrbp

U1u blurfunurnbuurllp 2019p-fr bnnnnr] bnurrlulu!h nLpurgpnLrl trurfuurnbuu[u6 fp 2589.0
hrrq. 4purd,r.hurumugfr tlnrurpp ltuqdbl t,6674.0 hr.uq.4purrl lurJ unnt4nup S7.9 %,'nfi0.trufunp4

mup{ur hurr.lbrfuuun trnqtrr4bu ur6b1 f:

2. flnuftuLlrutr hurdultrpfr 201gp.-h bnnnnq bnurrruiruQfr plnrgbfr nLpughq 6tufuubpfr
Quunurpn rplt1utrn pum nlnpuntrbpfr



Flnrgbfr r{urp1ulutr rluu[ 2019p-fr plnLgbfr bufuubpp bnnnnr; bntudulurllfr ptrpurgpnrrl

trufuurnbu{tub hF 94788.0 hurq. rlpurtI, {rurur"nugh 6ufuup !uqrlbl h 82891.0 htuq. rppurl l.1ud

Llruuntuprlutr unn!nup' 87.4 %:

1) Cur"n nlnpunLbp[ bufuubpp luunup{b1btt

1. FurdfL(01nprn)1. Ctrqhurtrnrp ptrnL1pfr hurtrpur1frtr 6ulnurlnrp1ntLttbp'

bpuqflp1.
(urfuultrplr u2futuunurUuq.rlh qurhqurtrnLplnrtr, htutrpurl[L npurllurl 6r.unulnrplnrtrtrbpfr duunnrgnril

LIlr9n g r.u nn Ltltr bp :bur nu1 n rpl n rtrtr bp

flnrilurtrlr.utr purqurBfr ur2fuuruntulluq.dh quhqurtrnrplutr, Uputr,Uhtrhdnn, l-npntm, [Jupg,
Cr-udnu"n,Purnhtrl ptrul4tu{urlnbnh 4un1ur!urtr qblurt{uptrbnh h ur2fuurrnulauqdbplt
q urhqutr n rp1 urtr 6ur fuu bp'

trufuurnbur{,ub - 42450.}hutq.. +nurd

{rururnug[ &ufuu -36269.7 huq. 4pud
lurnuprlurtr rnnQnu - 85.4 %:

2. Ptudfitr(fl1n p un)4. Str un bu urL1utr h ur p u pbp n Lp1 n rtrtr bp'

bntuqhn 1. 6utrurquphtulfitr rntrunbunrplnLL,tuLurutturpnrdurl4urtr 6tunr.ulnrplurtr duunntgnLd ,

urg ru 1,1 g n Lp1 n rtr p n u tu2 p g n rp1 utr qur p qur g durtl p.

Lllrgn g ur nn Ldtr bp :bu nu4 n rp1 n rbL bp

ULurutrurpnrdurLlurtr Surnr.ulnrplutr drumnrgrlurtr rlfrpngn{ urtruuubuquhnrplr,utr u6fr urr4urhn{ntd

Lurfutuunbu{ru6 - 1295.0 huq. 4pr.ud,

{ruurnurgfr 6urfuu 1295.0 huq. ryputl
Llurnupdurtr unnl4nu - 100.0 %:

u[ gn g u nn rdtr bp :bu nurl n rp1 n Ltrb bp
rlpudru2LnphI unpurduqpdurtr dfr2ngnrl upurlgnrplnrL <<6utrurqurphurlfrtr rnLrnbunrplutr>> tlh6uUh

pu p bpu {rlurtr 6p uqp fltt
trurfuruunbu,lu6 - 7500.0 huq. 4prud,
r.huuunugfr &trfuu 7500.0 hurq. 4ptud

!rumurprftutr unnLlnu -100,0 %:

[f I gn g u nn riltr bp :Uu nurl n rpl n rtrtr b p
rlpurdur2tlnphfr rnpudur4pdutr dfrgngnrl urgutqgnrplnrtr <<Lnnfr>>durpqurlfrtr pnuu2ppnrplutt

qrupqurgrlub 6puqpfitt
trurfutuubur{16 - 210.0 hurq. rypurJ,
qhuuunugfr 6ufuu 0 huq. 4nud
lrur"ntuprlutr r"nnLlnu - O %:

3. Furd[rtr(11 1n p un)5. Cpgu14ur dfrgurr{ru1 p h u{ru2mulutr n tp1 nLtt

bpuq[p 1.

(utlurltrplr pnlnn ptrut4u{urlpbpnuJ urlpuhurtrnrpluL Lr uutrfrunurpur!urtr ilupptlutt
6r-unu1 n rp1 n rtrtr bp fr rlu unnrgnrrJ

ufr gn g ur nn rdtr bp :Utu nurl n Lp1 n tLtrbp
rlpudu2trnphtrbpfr unprurlurypdurtr dJrgngnri hurdulLBir pnlnp ptrurQu{urlpbpnrd durr"nnLgbl

ru r1p ur h utr n Lp1 uL tr u tutr fr m ur p ur Q tutr rlup p d tutr 6ru nu1 n tp1 n Ltrtr b p

trurfuuunbu4ub - 4000.0 huq, rppurrl,

{rruuunurgJr 6ufuu -4000.0 huq. rlpurd



luunurptftutr rnnlnu - 100.0 %:

4. Fud[L(l11nprn)6. Ftrur!rupr.uLul[b 2frtrurprupnrplnLb tr QndnLtrurl 6unulnLplnrtr
bpuqfip 1.

Lbphurrkull.tpul[L qhnrlngtrbpfr lnLurur{npnrrl, gpudrurnur!urpurpdutr hutftullunqh pupblurr.{nrf
Ufr gn g u nn rdtr bp :btu nui n Lp1 n Ltrtr b p

(tudulLplr ptrullurr{urlpbpI gptudrur"nruLlurpupdrutr hurdurt4urpq]r purpblur{nrd
trtufuurunbu{ub - 7110,0 hurq. rlpurl,
rfururnugfr 6ufuu - 7110.0htuq.. qnruLI

Qtuunuprlutr unnlnu -100.0 %:

bpurq[p 1.

Q n rlngtrbp fr 1n ruu rln p n rrl

[Jfr gn g u nn ultr bp :bu ntul n Lp1 n LLtr bp

1-'bpptrul1turlulpurl[L lbLunpnLulluL tfnqngtrbnh lnruurt{npnrpluL hurrlul.lurpqbnh fLbpqbun[tA
Lr u q u u ur p L1 rlutr 6u nu1 n rp1 n LLL bp fr dtu un n rg n rd

trufuruunbur{rb - 2050.0 hurq. qpurrl

furuunuug[ 6ufuu -1429.1 huq. 4pud
Llruunuprlutr r"nnLlnu - 69.7 %:

tJfr g n g tu nn rrlL bp :bu nrul n Lp1 n LLtr b p

5. Fud[L(01nprn)8. (utrqfrur"n, d2urlnL1p h lpntr
Unuqhn 1. Lquurnbl hurdrultrBnrd uqnpunulfrtr d[gngurnnrdLbp[ luqtlut4bptqdurLb nr urtrgl.lurgrfutrp

Lr rltrhurun dupq[L1Lbp [ [LpLu6utttuldtuLp
trufurr.rrnbu4tub - 1000.0 hurq. 4pturl,
r.ftuuunrug[ 6urfuu - 0 hurq. rynurd
Lluunuptlutr unnInu - 0 %:

6. Fudfrb(ll1npun)9. trppnLpl n rtr

Upuqf pl.
(urdurltrpnrd trtufuurlqpnguLlrL QppnplurL, urprnur4qpngu!utr ryuuurnlrupurl,1nrplurtr
qunqurgnuJ Lr l.lppnrp1utin unpurrJu4p{nrl oduLrlu! 6urnrulnrp.lurb rlurnnrgnuJ

ufigng urnn rdtr bp :tru ntul n Lp1 n LLL bp

flnrrhutrlutrh LnF< <nUq-h qnp6nrtrbnrplurtr utqruhnr{nLd,qurldurtrlbpI ptupblu{ntrl
LnpnrunI LnF< <nUq-h qnp6nrlrbnrplutr uulruhn{nLrl,qrullutrLbpI ptupblu{nrd

.Ptupirtrpfr LnF< <nUq-h qnpbnrtrbnrplurtr urquhn{nrd,quldutrLbpft putpblu{ntd
UpruLfr trrufuuqqpngurlurtr !ppnLplurl ulptrunpuLBu4ltL durnulnrplr-utr qurhqurLnrd
Uhtr[6npI trur[uu4qpnguIutr !ppnrpltutr urlptrrnpurLpurl[L 6unulnrplurL qurhqurtrnuJ
Llungh trufuuryqpngurl;urtr !ppnrplulr tulptrr"npuLBulltL durnurlnrplutr uluhulutrnrd
CrurlnLunfr bu[uu4qpngtu!tutr !ppnLplurb urlptrrnpurLputlfttt 6urnulnrplr.utr qurhqurtrnul
u[ gn g ur nn ultr bp :bu nul n Lp1 n Ltrtr bp

flnrdutrluLlr ilurtrlurLlurtr rupr{bur"nI rpqpng (0U9-nrrl upunu4ulpngurt';urtr rpurum[uipnttlnplutt
t,luqdur!bpqnrd
[Jfr gn g tu nn rrltr bp :Uur nurl n rp1 n Ltrtr bp

gppnrplurl.rp unpturlurrynrinq odutrryurQ 6runulnrplnrtrtrbpfr rlurnnrgnrd
Lurfuuunbu4u6 - 25830.0 hurq. ryprur.l

r.huuuntug]r 6urfuu -21920.0 huq. qpurrl

llnrnruprlutr LnnInu - 84.9 %:

7. P udfrtr (f-l 1n p rn)1 0. U ng ]r ru 1u L1 rutr u,; ur2Ln q utr n rpl n LL



Upuq[p1.
U2u !g n rp1 n Ltr h ru rltultrp fr utr u q tu h n rl pL un uL [pL b p fitt

U lrgngunnrdtrhp:S prutr u$bp mL bp
(urilurltrpfr urtruquhnr{ ptruntutrfrptrbpfrtr oqLnLplnrtr unpudur4p{b1nr dh2ngn{ hnqubpft

uu Lnfr6 urtru pu n pbplrug n LrI

Lurfururnbu4ub - 1500.0 huq. 4purl
l,huurnurgfr 6ru fuu -1 460. Ohuq.. rlnurd

Quunupdrutr unnlnu - 97.3 %:

hL? trU'IlhSUL OnUqnUn Uq Uh3,ngunnhuLbn bL hnUL{ULUSqbL

1. PtudfrL(01npr"n)1. Ctrrlhurtrnrp ptrnqpfi hrutrpurlfrtr 6unulnLplnrtrtrbp'
bpuqfip1.

(urlurltrpfr ptrulQlnrpltutr tlbtruudurtlurp4u!fr purpbltu{nrd Lr 6urnulnLplnrLLbpft rlurunnLgrlurL npu![
prupdpurgnul

UJr2ngunnrfbbp:0l gfrtrurtruur!urtr ur!unfrtltrbnh q6n{ (!urqfrunu$dlrgngunntdLbp

flnrdurtrlutr Brurlupfr hrubryfrunrplnLlrtrbpfr upurhfr !urq]runu1 {bprulrnpnqnLd,
Gnrrltutrprtr puqup[ hpuqurpruqh U <. GnLrlutrlutrfr hnL2urpdurtr]r 2n2urqur1pfi t{bpuLnpnqnrtl [r
pupb!urpqnrrl
uung qJnrqh tlupluQurb qbltur{urpfr trurnurulu1nh Lr hurb4frunLplntLtrbpfr upuhfr qLuq.ui$hqurgnrrJ

Ptupfrtrg q1nlnh u{urplurlurtr r1blurr{upfr Luunrurlulpir rlbpuLnpnqnrd tr ququr$fl.1ugntd

Uhtrfrdnp qJntqh hrutr4frunLplnrtrtrbplr uptuhfr [gurQurnnqgf' 4bpurLnpnqnrrl
l-n p n rrn qJ n tqh qbp bqdurtr u m urL g utr ! r.u q u un lr r{bp tub n p nqn rd

Upruqpbpfr trurfuuqbtrtrufuurhuZtttulhtr rf uuunupqpbnh Lu[uuqurmpuumntr"l
trufuuunbur{rb - 10533.0 htuq. 4pud
rJrruuunurglr 6ufuu - 5248.2 hurq. 4purl
Lluunupdurtr unnLlnu - 49.8 %:

2. F tu dfrtr ( fl 1n p un )4. Str un b u u 1.,1 utr h ru p ur p b p n p1 n tLtt b p

Upuq[pl.
6u.rtr ru q u p h u1 frtr untr rn bu n rp1 utr rlfr6 u ta ir p ur p b pr {n Ltl

Lffrgngunnrdtubp: n1 gfitrurtruuLluL ruLlunIr{trbnh q6n{ (!urqfrunruf rl]rgngunnLdtrbp

l-npnrrn ptrrullur{ru1p[g rupnunu{urlpbp unutrnrl hrutrrptlrlfrguL 6tutrurquph]r trnpnqnLd

Uhtr[16np ptrrullu{urlpfrg upnrnrurlulpbp unutrnrl hurtrqturl]rgrutr 6urtrurqrlnhh trnpnqnrrl

CrurlnLm ptrulurr{u1p}rg rupnunrurlrulpbp unurtrnrl huLryurrlfrguL 6utruqurnhh Lnpnqnril

Uptutr ptrrulunlulp[g upnr"nru{tulpbp unutrnq hurhrpr-ur,lfrgurtr 6utrtuLLlulnhh trnpnqnrd

trufuuunhu{u,b -'1 1 00,0 huq. rppurd

r.,,hruuunugfr 6ufuu -'l 1 00.0 rlnuLI

Lluunruprlutr unnQnu - 100.0%:

3. Pudfrtr(fllnpun)6. PtruQurpurtrullrtr 2frtrupurpnLplnrlr Lr Llnrlnrtrurl bunlulnrplnttr

Upuq[p1.
(urrltulLpfr ptrul4u{rulpbpfr trbpBfrtr gpurlurrnruQurpurprlutr hrur.ltulurnqbnh {bputrnpnqntd,
rJr n qn gtr bp lr 1n Lu u t{n p n rp1 rutr h u dru L1 ur p qfr [1 tu nn Lg n rrl

U[rgngrunnrrltrbp: l'.l1 gfrtrutrutu!urtr u!r"nfr{trbph q6n4 (!uqfrrnur}dfrgngtunnrrJtrbp
(urlultrpir ptrut.1ur{urlnh trbnphb 2puruluunullupurptlurL hurrfuulurnqbnh {bpuLnpnqnrrl,bpuqpft

I purll utr ug dutr h ur rftu p h udultrpfi U n rllhg' ! tu q fr rn ru 1 L bp 4p n td

trurfuuunbu{urb - 4980,0 hurq. rppud



r.lrruuunugfr 6ufuu - 0 4purl
Qurr"nupdtutr rnnlnu - 0 %:

Uftgngunnrrlfubp: fl1 $[rtrurtrur,u!url urlarnfr{trbnh qbn{ (l4urqfrmurf rlfr2ngurnnrdtrbp
flnrdtutrlr.uL hurdulbpfr €upfrtrg,uurng, l-npnrrn,Upurtr tr Cudnrun ptruQu,r{urlpbpnul lnruur{npnrplutr
h u dur 14 ur pqfr 14 ur nn rg n rd, ptr ry1tu1l n uJ h u1 ur h q rutr n uJ

trurfiuurmbu{,16 - 3450,0 hurq. ryprld
{tuuunugfr 6urfuu - 0 hurq. rlfiuLl

Qurrnurpdutr mnl4nu - 0 %:

Gnrdutrlurtr hudurltrBfr qbl4ru{tup' /L. 2u{uplutr/

i


